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Name:  ________________________________    Class: ______

Date: ___________________
Case Studies: World Population Growth

STATION 1: Seven Problems for Seven Billion 
How long did it take to move from:

	1 to 2 billion
	

	2 to 3 billion
	

	3 to 4 billion
	

	4 to 5 billion
	

	5 to 6 billion
	

	6 to 7 billion
	


2 reasons why record population can be viewed as a success:

1. ________________________________

2. ________________________________

What is the population problem in poor countries?

What is the population problem in rich countries?

Fill in the chart of problems & solutions

	Person & their notable role
	Problem Summary
	Solution Summary

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	


STATION 2: China’s One Child Policy
Timeline of Events leading to the policy: summarize the basics



FAQ’s about China’s One Child Policy
· Loopholes
· The one child policy only applies to ____% of China’s population.

· The law doesn’t apply to __________ ______________ who make up 8% of the population.

· The law TYPICALLY allows rural residents to have a second child, especially if ___________ _________________________.

· An allowance for a second child is TYPICALLY made when both parents are ______________>

· Not an exception, but wealthy parents can ___________________________ for the child.  Or people will ______ and send the children off or pass them off as nieces and nephews.

· Enforcement

· Incentives

· Government social assistance and subsidies include:

· Penalties

· The majority of penalties are __________________.

· The draconian measures of forced ___________________ & __________________ are rare nowadays.

· China’s Current Fertility rate: ____________

· Why is China still so populous?

· Improvements in standards of living have led to longer _____________  ________________.

· The “___________________ ______________” effect – the millions of children already born will have ___________ faster than the elderly population will ____________ ___________.

Controversies and Criticisms

· Whom do the Chinese fear (who is more likely to use draconian measures to enforce the law)?


· Define Female Infanticide: ____________________________________________________________ __________________________________________________________________________________

· Why are males traditionally seen as an asset where females are not? _________________________ __________________________________________________________________________________

· What invention made the gender imbalance worse? _______________________________________

· The natural balance of males to females: __________ to 100.  In china it is ______ to 100. In rural china the imbalance is ________ to 100.

· Explain why in URBAN China, many are now seeing males as an economic burden instead of an asset: ___________________________________________________________________________ ________________________________________________________________________________.

Other Facts:

· The top destination for 80% of China’s adoptions is ____________________.

· In 2007, China decided to ban applicants who are _____________________, _______________, _______________________ or who take certain ____________________.

· In an experimental “Two Child Policy” it was shown that rural populations grew ____% under the national average AND ______________________________ was in line with the natural norm at ______________ to 100.

STATION 3: AIDS in Africa

How many of the countries listed are in Africa? __________ out of _________
Where does the US rank on the global list? __________
Compare the AIDS map you have just colored to the maps in the book’s appendix.  What conclusions can you draw about the areas where HIV/AIDS are most prevalent?
STATION 4:  In favor of people v. VHEMT
Population is Not the Problem – Seven Billion Reasons to Celebrate

As you read, write down some of the positive things that have led to a population of 7 billion.

The author argues that we do not need to worry about the world’s fisheries, give 4 reasons he says this is not a problem.

1.
2.

3.

4.
VHEMT – About the Movement
What does VHEMT stand for? 

What does someone have to agree to in order to be a member?

What problems does Les Knight say would be solved with fewer people on the planet?

Who does Les blame for the lack of contraceptives in Africa?

Does Les support suicide? ________ What are his reasons?

Answer Les’ ultimate question as best you can: “Give me one good reason why homo sapiens should continue to exist — and that good reason would have to be one that does not involve humans. Something that humans are good for other than other humans, something in the biosphere.”

STATION 5: Contraceptives (*Op-Ed writer for NY Times)
What are some of the roadblocks to contraceptives that Kristof recounts in Poverty and the Pill.

How many women worldwide are sexually active, don’t want to get pregnant but are not using contraceptives? 

How much would it cost to provide these women with contraceptives?

Each $1 spent on contraceptives would decrease medical spending by $__________.

If contraceptives were widely available – it would stop _____________________________- unwanted pregnancies, ___________________________ fewer abortions and save _________________________ women from dying in childbirth EVERY YEAR!

Why did family planning stall in the 1980’s? 

Some parents still want children as a sign of social class, virility, or because the expect some to die: a solution to this is ____________________________, _____________________ and other steps to reduces ______________________________________.

Christine Kanda in Mindouli doesn’t want any more children, what 2 things stand in her way of getting contraceptives?

In The Birth Control Solution, Kristof blames the lack of resources to fund family planning on what?

What 2 problems does Kristof say are impacts of overpopulation?


Family planning has worked in India and Mexico to reduce TFR.

India: TFR __________ in 1950, _________ today

Mexico: TFR __________ in 1965, _________ today.

Birth control isn’t the only thing missing, he also calls for ______________________________________ - starting with an end to ___________________________________.

Traditionally, support for family planning was bipartisan – with Presidents _______________________ & ________________________________ giving support.  Contraceptives then became entangled in America’s _______________________ wars and ____________________________ turned against it.  The result (ironically) was _____________________________.

In the US, domestic family planning programs avert ________________________________ pregnancies (________________________ would have ended in abortion), and save taxpayers $__________________ annually.

Kristof ends by saying that family planning is a cost-effective strategy to reduce __________________, ____________________, and ______________________________________.

STATION 6: A World without Women

How many women are “missing” in Asia?

Why are there more women than men in the western world?

Why are women “undervalued” in China?

At current rates, one in every _____ men will be bride-less, this would be like ______ cities the size of _____________________ full of only men.

What has resulted from former male youth-bulges historically (give at least 3 examples).

In what countries is the shortage of women most pronounced?

What 3 countries are women being kidnapped from?


Buyers tend to be poor rural farmers, or rich men in countries like ______________________________ ___________________________________________ where women, now educated and empowered are choosing careers over marriage.

The 3 main bride importing countries are: __________________________________________________.
Brodnax





1950’s to 1960’s: 


Chinese government begins to change their tune due to food shortages by (3 actions taken):





Mao still says to a visiting country, even if a bomb kills 300 million:








1949: Communist Party takes control.


Who was in power?


What was the population?


Statement by Communist Youth League:


Statement by US Secretary of State:


Response from Mao





1958: “The Great Leap Forward”


Mao’s failed gov’t program coupled with ill-timed ___________ & _____________ led to starvation of _______________________ Chinese people.





1970: “Late, Long and Few”


: A voluntary family planning campaign encouraging (3 things): 





TFR drops from ____ to _______.





1976: Mao dies, Deng takes over


Figures the best way to increase per capita _________ is to reduce the population.





1980: Policy becomes MANDATORY


One child policy was supposed to be an ___________________ policy,  and phased out in ____ to ____ years, but it continues to be renewed on a 5 year basis despite changes to china’s ______________ & ______________.





2010: Policy renewed again for another 5 years.








KEY


Under 1%


– 2.9%


- 4.9%


– 9.9%


10 – 19.9%


Over 20%








